Choose the correct words. Check in the Word List.

1 Adam has got to go to court for a driving
offence/crime.

2 The burglars were arrested and taken/driven

to court.

3 It's unlawful/illegal to trespass on private
property.

4 The judge announced/found him guilty of
murder.

5 The murderer received a life sentence/
imprisonment.

6 There were no witnesses/suspects to the
accident.
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Complete the exchanges with the verbs below
in the correct tense/form.

® arrest ® appear ® confess ® chase ® pay
e get ¢ let ® find ® make ® sentence
® convict ® break

1 A:
B:
2 A:
B:

3 A

Have you ever ...... the law?

Well, | once had to ...... a fine for speeding!
Did the man ...... to the burglary?

Yes, the police have ...... him and he’s
...... in court on Thursday.

So the thieves didn’t ...... away with the
robbery then?

: No, they didn’t. The security guards ......

after them, so they didn’t manage to ......
off with the money.

+ Did the judge ...... the man guilty of

dangerous driving?

: Yes, but he ...... him off with just a heavy

fine.

: Is it true that your neighbour has just been

...... of fraud?

: Yes, he has been ...... to ten years in prison.



